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YEAR 7
ENGLISH
WORKSHEET 5 SOLUTIONS
Strand Listening and Speaking
Sub Strand Text Types Media, Everyday Communication Literacy Texts

Content Learning Outcome | Listen carefully, speak and respond confidently to a variety of literacy
texts.

Activity
Answer the following questions.

Chapter 12

1. Why did Mr. Glover challenge Scrope to a fight?
Mr. Glover challenged Scrope to fight so whoever won could keep George.

2. Mr. Glover beat Scrope easily. (True or False)
False.

Chapter 13

1. Who won the fight?
Mr. Glover.

2. The second mate was too scared to fight Mr. Glover.

3. The Trade Wind left Maiana without her cabin boy. Whom does the cabin boy refer to?
It refers to George.

4. Why was George disappointed (pg 65)?
He was disappointed because the gipsy’s prophecy (death to the man with the emerald
ring) did not come true.
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